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General Instructions:

This paper contains three sections:

Section A — Reading --5 Marks "
Section B — Writing — Grammar-10 Marks

Section D - Literature- 15 Marks

All Sections are compulsory

Read the passage carefully and then answer the questions.

1. Once there was a miser who sold all his properfy and, with the money,
bought a great lump of gold, he dug a deep hole at the edge of the garden, and
there he buried his gold. Once a day, thereafter, the miser went to the gal'den,
dug up his gold and embraced it lovingly. One of the miser’s workmen

wondered why his master spent so much time in the garden.

2. One day, he hid behind a tree and soon discovered the secret of the hidden
treasure. That night, when the miser was fast asleep, the workman crept into the
garden and stole the lump of gold. When the miser found that his gold was

gone, he tore his hair and cried aloud.

3.A neighbour came running to see what the matter was, and the grief-stricken
miser told him what had happened. Then the neighbours said, “Please stop
weeping. Go and find a stone. Place the stone in the hole and imagine that it is
your lump of gold. The stone will serve your purpose, for you never meant to

use the gold anyway.”




Answer the following: (1x5=5m)

|. How did the miser get the lump of gold?

2. Why did miser spend so much time in the garden?

3. By whom was the gold stolen?

4. Find the synonym for the following words, from the paragraph:

a) hugged( para 1) b) learnt(para 2)

5 Choose the most appropriate title for this story.

WRITING & GRAMMAR
inviting him/her for your birthday party. (SM)

: (10Marks)

11) Write a letter to your friend,

11) Complete the letter to your friend describing your NEW school with the parts

1
of speech mentioned in the brackets, one is done as an Example: (1/2x6=3M)

My dear EX: Sonia (noun)

a) In your previous letter, (pronoun) had asked me to write about my

(verb) this new school

new school and some of my new friends. 1 b)

last week. Itisan English medium school and situated in c) (noun)

(adjective) park. The school has a huge library e)

near a d)
(adverb)love my new

(conju.nction) a basketball ground 1(D)

school very much.

1V) LITERATURE (15)

Extract based questions: (1x3=3M)

What is a home?

It’s loving and family

and doing for others.

[t’s brothers and sisters

and fathers and mothers.

It’s unselfish acts

and kindly sharing

and showing your loved ones
you’re always caring.



a) What is a home made of?

b) What keeps all the members united?
¢) How does a home differ from a house?

V1) Answer the following in 30-40 words: (2x4=8M)

a) Write the character sketch of “The Elf’, from the lesson “Who did
Patrick’s Homework”?

b) Explain the difference between what is a house and what ‘is 4 home from the
poem “A House A Home”?

¢) Who helped Patrick and how?

d) Describe your home. What is it that makes your home special for you?

VII) _Answer the following in 50-60 words:

a) Imagine you are Patrick, express your feelings in the form of a diary entry

when the Elf agreed to do your home-work. (4M)
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PART - A .
SECTION - 1 1 X7=7

1) Find the difference in the place value and face value of the digit ‘5’ in 57,18,432.
2) Write the number in short form — 80,000 + 2 + 500 + 7000 + 3,00,000

3) Write in numerals - Nine lakh six thousand nine.

4) Write the successor of the smallest 5-digit number.

5) 89,89,500 comesjust after which number.

6) Find the product of’the successor of 99 and the predecessor of 100.

7) Write the number name in International number system — 345,602,778.

SECTION -2
Case Study

i
=8h ‘W
H )y

8) Shiva bookstore sold books worth Rs.33,25,645 in the first week of April and
books worth Rs.52,01,496 in the second week of the month.

i.  How much was the sale for the two weeks together?
a) 85,57,141 b) 85,27,141 c) 85,57,411 d) 85,57,144



ii. By how much was the sale greaterin the 2" week?

a) 18,75,855 b) 18,57,585 c) 18,75,851 d) 18,75,585
iii.  Write the sales of the first week in the expanded form.

a) 30,00,000 + 3,00,000 + 20,000 + 600 + 40+ 5

b) 30,00,000 +3,00,000 + 5,000 +600 + 40 +5

¢) 33,00,000 + 20,000 + 5,000 + 600 + 40 +5

d) 30,00,000 + 3,00,000 + 20,000 + 5,000 + 600 +40 + 5

iv. Find the product of the face value and place value of 9 in the 2" week sales.
a)810 b) 90 ¢) 910 d) 890

PART - B
2X3=6

9) Represent the given number in the International place value chart — 756,304,293,

10) Using the digits — 0,1, 6,3 form
a) A 6-digit smallest number by repeating the digit ..
b) A 5-digit greatest number by repeating a: - digit.
[1) Find the difference between the smallest 5-digit number and the greatest 6-digit

number.
3X3=9

12) 8,160 cold drink bottles are to be arranged in rows of 12. How many such rows

will be formed.

13) A student multiplies 5289 by 82 instead of multiplying by 72. How much was his
answer greater than the correct answer?

14) A bottle contains 1L 200mL of oil. What is the total quantity of oil contained in 40

such bottles?

4X1=4

15) The distance between the temple and Rayi’s house is 1Km 420m. Everyday he goes

to the temple walking both the ways.
a) Find the distance covered by him in one complete round.

b) Find the total distance covered by him in 7 days.



Smdlu ngh School KK Road Bengalul u- 01

& B e I Perlodlc Test (2022 23) : - i
Class 6 s I S SubJect Sc1enee S R

Marks: 30 ; G e eaid Tlme (0 Sty
No. Of Sldes 4 R L i “ ‘Date: 14/ 07 / 2022
GENERAL INSTRUCTIONS

* Write the name, roll number, class & sectlon clearly in the answer scrlpt -
(1) Section A- MCQ and the Assertion —Reason type questlons, carrying 1
mark each. They are to be answered in one word or in on¢ sentence.
(ii) Section B- Short answer type questions, carrying 3 marks each. Answel
to these questlons should not exceed 50 to 60 words. ‘ ;
- (iii) Section C- Long answer type questions, carrymg 5 marks each. Answer
~ to these questions should not exceed 80 to 90 words.
(iv) Answer should be brief and to the point. Also, the above-mentloned
~word limit be adhered to as far as possible.
(v) There is no cholce in the question paper.

SECTION - A
NO: s __QUESTIONS MARKS
11 Assertion: Mountaineer carry oxygen cylinder while :
climbing the mountain
Reason: The amount of oxygen increases with height. | 1m

(a)Both A and R are true and R is correct explanation of A
(b) Both A and R are true but R is not correct explanation of
A (¢) A is true but R is false ‘
(d) R is true but A is false.

27 Assertlon B01hng of water is example of an irreversible
change. ;
Reason: Steam can be condensed into water.

(a)Both A and R are true and R is correct explanation of A 1Im
(b) Both A and R are true but R is not correct explanation of
(¢) A is true but R is false

(d) R 1s true but A is false.




Assertion: Leaf is the kitchen of the plant.
Reason: Lamina traps the sunlight and helps in

photosynthesis.

(a)Both A and R are true and R is correct explanation of A
(b) Both A and R are true but R is not correct explanation of
(¢) A is true but R is false

(d) Ris true but A is false.

The air over industrial cities usually has a higher amoupt of

e e

(a) Oxygen

(b) Nitrogen

(c) Argon

(d) Carbon dioxide

Which of the following is not an irreversible change?

5
(a) melting of ice
(b)contraction of metals
(c) baking of cake
(d)drying of wet clothes

Green leaves produce during photosynthesis.

' (a) spirit  (b) iodine (c) starch (d) Carbon-dioxide

(a) Define atmosphere.

(b)Name the major constituents of air along with their

percentage.
(a) Give an example of natural change.

(b) Differentiate between physical and chemical change.

Im

W_

-



(a)Differentiate between (i) herbs and shrubs (ii) climbers

i.  Why eena observed tiny bubbles inside the vessel?
ii. ~ What will happen if she continues to boil the water?

(b) List any three uses of air.

3m
and creepers.
(b) Identify the type of venation shown in the given picture
(P) | Q)
SECTION -C
10 (a) Reena observed that when she was boiling water, tiny
bubbles were formed all around inside the vessel.

' Sm




12

(a)The change shown in the given image can be reversed or
> -
not. Give reason for your answer.

(b)Mention the change caused by heating a metal rim and

explain the process of

(a) What do you conclude from the above activity?

(c) Explain various kinds of roots with th

FLOWERS
Fo T St G
e RED COLOUR

: g i

T BAUSAM
SRANCH

(b) Mention any two important functions of root.

Sm

fixing the metal rim to the cart wheel.

e help of an example.

Sm
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Multiple choice questions 1x4=4 M

1 . People who gathered their food are called

a . Hunter b. Skilled gatherers .

c. Farmers d. merchants

2. During the 3" and 2" centuries BC, Sind formed part of the Empire.
a. Mauryan b. Mughal

c. Maratha - d. Gupta

3. Where are the Pashmina shawls woven?

a. Kolkata b. Jharkhand

c. Kerala d. Kashmir

4. Ladakh is a desert in the state of
. Kerala b. Madhya Pradesh
c. Jammu and Kashmir d. Rajasthan

o

5. a. What are inscriptions? 1x3=3 M
b. Who are historians? i
c. Name any two animals which the people of the Sulaiman and Kirthar hills reared.

6. ‘India is a country of many diversities’. Explain giving examples. 3M

7. a. People in the earliest times used to travel from one place to another. But their

journeys were full of dangers. What type of dangers did they face? 2M
b. Who are archaeologists? What do they do? 3M
8. a. Mention the different religions that are practiced in Kerala. IM
b. What is Ladakh known as? : IM

c. List three ways in which the different geographical location of Kerala and Ladakh
was influenced. 3M



GEOGRAPHY

_The Pole Star indicates the direction to the 1x2=2 M
a . South b. North c. East d. West

[e—y

2 Asteroids are found between the orbits of
a. Saturn and Jupiter b. Mars and Jupiter
¢. Mars and Venus d. Neptune and Saturn

3 a. What does the solar family consist of? 1x3=3 M
b. Why is the earth called a blue planet?
c. How much time does the moon take to move once around thg earth?

e

4. a. Write short note on The Sun | - 2M
b. How does earth support life? 3iM
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. IO Boa Split the letters, (1x2=2)
%) E&RH =
) GRM: =

II. TOTTAST] $&a Join the letters, (1x2=2)

Q) Y+ S+q+ T+ 3+ P +3(+H =

R) q+§+q+an+‘<§+q4rq+§ %

IR ﬂﬂ?-fqm{ fersra Analogy

(Vaxd=2)

)T : BEERT: :: § 3y -

)T T+U ;. ) -




3) % g eme i o g XA:

¥) 3f : &R o Sf:

Iv. Wwﬁ fI@d Name the Organs of Pronunciation (Y2X4=2)

(AT / BUG: / 3B/ &)

VRE
)P = (AT / BUS: / 3B/ &)
Y= (T / BUS: / 3B/ &)
¥)% = (AT, / HUS: / 3N/ &)
v. TforeTeRH ferad (2)
D =

000000000000000000 qH EEI'R‘['OOOOOOOOOOOOOOOOOOOOO




